
𝑎 + 𝑏 𝑐 + 𝑑∙



𝑎 + 𝑏 𝑐 + 𝑑∙

𝑎 + 𝑏

a b

𝑐
+
𝑑

c

d

𝐴 =

𝑎 ∙ 𝑐 𝑏 ∙ 𝑐

𝑎 ∙ 𝑑 𝑏 ∙ 𝑑

𝑎 ∙ 𝑐 + 𝑎 ∙ 𝑑 + 𝑏 ∙ 𝑐 + 𝑏 ∙ 𝑑

𝑐 + 𝑑



= 𝑎 ∙ 𝑐 + 𝑎 ∙ 𝑑 + 𝑏 ∙ 𝑐 + 𝑏 ∙ 𝑑𝑎 + 𝑏 𝑐 + 𝑑∙

Jeder Term einer Summe wird mit jedem anderen Term 
der anderen Summe multipliziert.



Beispiele

2𝑥 + 3𝑦 ∙ 4𝑎 + 5𝑏 = 2𝑥 ∙ 4𝑎 + 2𝑥 ∙ 5𝑏 + 3𝑦 ∙ 4𝑎 + 3𝑦 ∙ 5𝑏

= 8𝑎𝑥 + 10𝑏𝑥 + 12ay + 15𝑏𝑦

2𝑥 + 3𝑦 ∙ 4𝑎 − 5𝑏 = 2𝑥 ∙ 4𝑎 + 2𝑥 ∙ (−5𝑏)+ 3𝑦 ∙ 4𝑎 + 3𝑦 ∙ (−5𝑏)

= 8𝑎𝑥 − 10𝑏𝑥 + 12ay − 15𝑏𝑦



−2𝑥 − 3𝑦 ∙ −4𝑎 − 5𝑏 = (−2𝑥) ∙ (−4𝑎) + (−2𝑥) ∙ (−5𝑏) + (−3𝑦) ∙ (−4𝑎) +(− 3𝑦) ∙ (−5𝑏)

= 8𝑎𝑥 + 10𝑏𝑥 + 12ay + 15𝑏𝑦


